HMANIE BT 4
D EIENAE / 5 &R

EUHE - BARSARENDEEVE

EH 22110.

EmiEiR
FRTE S IR AR E AL A B E A R E#F . B S FEFHREH 22110.0412FEH 22110.0416,

mE FLER
@R’ SRR
The thread is matched to the mounting blocks
for index bolts and index plungers, die-cast
(EH 22110.) and mounting blocks for index
bolts and index plungers (EH 22120.).
BEEM
« REE ARSI BEMNE  BiE
« REBE, BARS BB S B EME
5]
Ly
H
o,
-~ [%2]
CH N =
L
l3 @ @
FEEA
R~ SRRt ws & [ 1
d d, ds Iy lp I3 max.
+0,1 +0,3 min -0,3
[mm] [mm] [mm] [°C] ]
M12x 1,5 4,2 12,1 9 10 13 4 13 250 10,0 22110.0454
M12x 1,5 52 12,1 9 10 13 5 13 250 9,6 22110.0455
M12x 1,5 6,2 12,1 9 10 13 6 13 250 8,5 22110.0456
M16 x 1,5 8,2 16,1 1 12 15 8 17 250 18,0 22110.0458
M16 x 1,5 10,2 16,1 11 12 15 10 17 250 14,0 22110.0460
M16 x 1,5 12,2 16,1 1 12 15 12 17 250 9,1 22110.0462
eVHALDER P
FIZTE: 10.8.2024


http://halder.com/tw/22110.0454
http://halder.com/tw/22110.0455
http://halder.com/tw/22110.0456
http://halder.com/tw/22110.0458
http://halder.com/tw/22110.0460
http://halder.com/tw/22110.0462

HMANIE BT 4
DEIEMA / 5o EIRE

& F & 5

A-A

"ﬁ NANANN

Pl

Z

pan

Bs
4 RoHS
Eth - AR T HI5 6a/6b / 6C.

2% >0.1% wiw # SVHC Y&
Eth - SVHC [REACH] SEE#ZE 2024 £6 A 27 H

a8 65 MIRENWE

A\

ERNSEEENEERE. RERSEREE.

https://www.P65Warnings.ca.gov/

TEEREY

FERTERABRRERNEASPEEARNTAREER GREY WYE , HlmE, &, £RE.

HEM 22
ENHALDER IR 10.8.2024



